(1T)aILdl =g 58 cylan)

S 8 A 495 L 455 g
14:57 cats 1390 wla g0 22 dus

ioylany Syl dlo ngd 3l 39 (MRS 3 Sowd

eyl B M > allf

Lod Adadimd (30 ¢ 392 ol g l,sgs!glaé

tose il ! Qs 40

gg..fgQm‘o'j‘)éOT&‘_(.:JJjt’.f)}goTéC‘gpjrl)ﬁ}féﬁ)‘mﬁb‘_f%jrw\i‘gJ;léﬁo)bl)QTg%)ngqu‘ic‘éJ'r




(11) 4341 zegi 3 oybian)

I 33 (A 495 g 435 &L
14:57 caates 1390 wls 30 22 ais

L) 9 g Sl oo 45 135 4y K gw dx 5 .Sl 531905 g0 31 T3 LI il 40 (0K 45 WS Lol
WAL Wiglgs cyliatomil (uyI3K19 Ly 90 5T 31 oS0 4K 38 45 Sl (S Hl04 50

S S 97 0 —422 Canss ke

212



